A)  PROBABILITY
During a basketball game there is a 26% chance of a ball going in the basket.  The score keeper Vern is visually impaired and he makes errors in the scores some of the time.

a) Complete the probability tree showing all the probabilities that are missing

   (4 marks)


b) What is the probability of being awarded some points?

P(Points given) =______________________________________=_______

            (2marks)

c) Out of 48 baskets what is the expected score awarded by Vern? 

(2 marks)

4)      Their score tally for the season is given in the table below.
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3 pt baskets

Bob

12

6

Barry

16

10

Burt

10

3

Bernie

12

1

TOTALS

50

20


c)
Of the 2pt baskets scored what is the probability that it was scored by Bob? 
           (2 marks)

d)
Given that Bob scored a basket, what is the probability that it was a 3pt basket?
            (2marks)

B)  NORMAL DISTRIBUTION
Farmer  Bobs daughter Dianne deftly deflates many basketballs and weighs each one.

She finds the mean weight to be 460g and the standard deviation to be 4.8g

Clearly show your working and use the normal distribution tables on the next page.

a) Farmer Bob prefers balls between 454g and 472g.  If a ball is selected at random what is the probability it is one Farmer Bob prefers?

(4 marks)

b) What percentage of balls weigh less than 463g?

(4 marks)

c) If 20 basketballs were selected at random how many of them would you expect to weigh less than 456g?

(4 marks)

d) If the heaviest 10% of basketballs cause injuries during the game, what is the ‘cut off’ weight for these balls?

(4 marks)

P(Basket) =0.26  





P(No score given) = ________





P(No Basket)=0.74





P(Basket & Score given) 





P(Score given) =    0.88





P(Score given) =__________





P(No score given) = _______





P(Basket & No score given) = ______





P(No basket & Score given) = 0.407





P(No basket & No score given) = 0.333





What is the probability a basket scored this season was a 3pt basket? 


(2 marks)








What is the probability that a basket was scored by Barry?   


(2 marks)
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				2 pt baskets		3 pt baskets

		Bob		12		6

		Barry		16		10

		Burt		10		3

		Bernie		12		1

		TOTALS		50		20






